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5|`G ! IMuI lJS<5 5;\N SZL pTZ VF5MP                                                                         s!_f 

s!f JT]"/G]\ S[gN= JT]"/  PPPPPPP GF EFUDF\ CMI K[P 

(a)    GL ACFZ  (b) GL V\NZ (c) 5Z  (d) V[S 56 GCLP 
 sZf ʘ(O, 5) GL DM8FDF\ DM8L HLJFGL ,\AF............. K[PP 

 (a) 5  (b) 2.5  (c) 1  (d) 10 
 s#f ʘ(O, r)GL V[S HLJF PQ= 10 S[gN= YL 3 V[SD N]Z K[P TM JT]"/GL l+HIF = PPPPPPPP  

 (a) 2  (b) 4  (c) 8  (d) 6 
s$f JT]"/GM J'TB\0 V[ JT]"/GF RF5 VG[ PPPPPPPPPP JrR[GM 5|N[X K[P 

(a)       l+HIF (b)      jIF; (c)       HLJF (d)       S[gN= 
s5f l+SM6GF +6[I lXZMlA\N] DF\YL 5;FZ YTF JT]"/G[ PPPPPPPPPP SC[ K[P 

 (a) 5ZLJ'T  (b) J'TF\X  (c)  V\ToJ'T (d)       5ZJ,I 
s&f V[SH ,W]RF5GF V\tIlA\N]V[ U]~RF5GF UD[ T[ lA\N] 5Z VF\TZ[,F B]6FVM  PPPPPPPP CMI K[P 

(a)       ;DFG (b)       V;DFG (c)  AD6F (d)       V0WF 

s*f +6 V;DZ[B lA\N] DF\YL DF+ S[8,F JT]"/ 5;FZ YFIP 

  (a)    1 (b)     2 (c)        3 (d) V[S 56 GCL 
s(f V[SH ,W]RF5GF V\tIlA\N]V[ U]~RF5GF UD[ T[ lA\N] 5Z VF\TZ[, B]6M S[gN= VFU/ VF\TZ[,F B]6F SZTF  

PPPPPPPP DF5GM CMI K[P 

  (a) ;DFG  (b)  V;DFG (c)  AD6F  (d)       V0WF 

 s)f VW" JT]'/GM V\TU"T B]6M PPPPPPPPP CMI K[P 
 (a) ,W]SM6  (b)  U]~SM6  (c)  180⁰  (d)       90⁰ 

s!_f jIF; = …………… 
 (a) HLJF  (b) l+HIF  (c) 2 l+HIF (d) RF5 

 
5|`G Z DFuIF D]HA NFB,F U6MP                                                                                     s!5f 

   !P  JT]"/GL ,W]RF5 S[g§ VFU/ 120 DF5GM B}6M VF\TZ[ K[P TM RF5[ ,W]J'TGF SM.56 lA\N] 5Z VF\TZ[, B]6FG] 

DF5 ;MWMP  

 ZP 5 ;[DL l+HIF WZFJTF JT]"/GL V[S HJL S[gN=YL 3 ;[DL N]Z CMI TM HLJFGL ,\AF. XMWMP 

#P □ABCD RS|LI K[P HM ∠B −  ∠D = 40 CMI TM ∠B XMWMP 

$P ATFJM S[ ,W]RF5V[ U]~RF5GF UD[ T[ lA\N] 5Z VF\TZ[, B]6M S[gN= VFU/ VF\TZ[,F B]6F SZTF V0WF DF5GM 

CMI K[[P 

5P □ABCD RS|LI K[P HM AC TYF BD T[GF lJS6" CMI VG[  ∠DBC = 55, ∠BAC = 45 CMI TM ∠BCD XMWMP 
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